MODULE 2
LESSON 4
QUIZ

1. Question. Which of the following expresses the polynomial
P(z) =z 4 8 in factored form?

A (z+2)(z+2)(x+2)
B. (z+2)(x2 + 2z + 4)
C.(z+2)(x2 —2x+4)
D. Not factorable over the integers.

Go to answer [T

2. Question. Which of the following are the solutions of the equa-
tion 22 — 22 + 4 = 07

A.z=2and z = -2

B. The equation has no solutions because x? — 2x + 4 is not
factorable over the integers.

C.zr=1+4+iv3andz=1—1iV/3
D.z=-1+iv3andz=—-1—iV3

Go to answer 2

3. Question. Which of the following is the completely factored
form of the polynomial P(z) = x3 + 8?7

P(x) = (v +2)?

P(x) = (z 4+ 2)(x + 1 +iV3)(x + 1 — iV/3)

P(r) = (x+2)*(z — 4)

P(x) = (v +2)(x — 1 +iV3)(x — 1 —iV/3)
Go to answer 3]



4. Question. Which of the following correctly describes the solu-
tions:v:1+i\/§,x:1—i\/§andx:—27

A. 3 solutions of which 1 is real and 2 are non-real.
B. 3 solutions of which all 3 are real.

C. 3 solutions of which 2 are real and 1 is non-real.
D. 3 solutions of which all 3 are non-real.

Go to answer [

5. Question. How many z-intercepts does the graph of the poly-
nomial P(z) = z* + 8 have?

A. none
B.3
C.2
D. 1

Go to answer [l



. Answer to Question 1 is 7C”.

Note: The polynomial P(z) = x348 in factored form is P(z) =
(x +2)(2* — 2z + 4), where (z + 2) is a linear factor and (z* —
2x + 4) is a quadratic factor.
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. Answer to Question 2 is 7C”.
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. Answer to Question 3 is ”D”.
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. Answer to Question 4 is 7A”.
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. Answer to Question 5 is ”"D”.
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